

$$\alpha^2 - \alpha + 2 = 0 \quad \begin{cases} \alpha^2 = \alpha - 2 \\ \beta^2 = \beta - 2 \end{cases} \quad \beta^2 = \beta(\beta^2) = \beta(\alpha\beta - 2) = \alpha\beta^2 - 2\beta = 2\alpha\beta - 1$$

$$\alpha + \beta = \omega$$

$$\alpha\beta = 2 \Rightarrow \alpha = \frac{2}{\beta} \Rightarrow 2\alpha = \frac{1}{\beta} = 2(\omega - \beta) = 2\omega - 4\beta$$

$$\beta^3 = \beta(\beta^2) = \beta(\alpha\beta)^2 = \beta(2\omega\beta^2 - 2\beta + 4) = 2\omega\beta^3 - 2\beta^3 + 4\beta = 2\omega\omega\beta - 2\omega + 4\beta - 2\omega - 1$$

$$-1 - \omega + 4\beta = 4\omega\beta - 2\omega - 1 \quad \frac{2\omega - 4\beta + 4\omega\beta - 2\omega}{\omega\beta^2} = \frac{4\omega\beta - 1}{\omega\omega\beta - 2} = \frac{4\omega}{\omega} = 19$$

$$\alpha_5 = \frac{3 + (-1/\omega)}{2} = 0.1\omega = -\frac{b}{2a}$$

فاطمه عرفی سی طن راسی بر ابریاگی طن یا -

$$\alpha + \beta = -\frac{b}{a} = 2 \times 0.1\omega = 1/\omega$$

۲

$$\alpha^2 + 2k\alpha + \omega = 0 \quad |a - b| = \frac{\sqrt{\Delta}}{|a|} = \sum k = \sqrt{4k^2} = \frac{4}{2} k$$

$$\Rightarrow 4k^2 \cdot \frac{1}{4} = \frac{1}{\omega} k^2 \Rightarrow \frac{1}{\omega} k^2 = 2 \Rightarrow k^2 = 4 \Rightarrow k = 2$$

$$\left[\frac{k^2}{2} \right] = \left[\frac{4}{2} \right] = [2/\omega] = 2$$

۲

$$A: (x_0, y) \quad B: (\omega, y) \quad \alpha_5 = \frac{3 + (-\omega)}{2} = -1 \quad y_5 = 1 \quad \text{نقطه: } (-1, 1)$$

$$y = a\left(x + \frac{b}{2a}\right)^2 - \frac{D}{4a} \Rightarrow y = a(x+1)^2 + 1$$

$$y = 0 \Rightarrow 0 = a(x+1)^2 + 1 \Rightarrow a(x+1)^2 = -1 \Rightarrow (x+1)^2 = -\frac{1}{a} \Rightarrow \begin{cases} \alpha = -1 + \sqrt{-\frac{1}{a}} \\ \beta = -1 - \sqrt{-\frac{1}{a}} \end{cases}$$

$$\alpha^2 + \beta^2 + \omega = 1 \quad (\alpha + \beta)^2 - 2\alpha\beta = \omega \quad \alpha + \beta = -1 \quad \alpha\beta = 2 \Rightarrow \alpha^2 + \beta^2 + \omega = 1 \Rightarrow 1 - 4 + \omega = 1 \Rightarrow \omega = 4$$

$$\alpha = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad \frac{-\omega \pm \sqrt{\omega^2 - 4m}}{2} < \frac{9}{2} \Rightarrow \sqrt{\omega^2 - 4m} < \omega + 9 \Rightarrow \omega + 4m < 14$$

$$\Rightarrow -2\omega \leq 4m < -9 \Rightarrow -4\omega \leq m < -2/\omega \quad m \in \{-4, -3, -2, -1, 0, 1, 2, 3, 4\}$$

۵

$$y = \frac{1}{2} m^2 - 1 \quad m > 0 \quad y_{min} = -1 \quad a_5 = \frac{-b}{2a} = \frac{1}{2} = \frac{y}{m}$$

$$\Rightarrow -1 = \frac{1}{2} \left(\frac{y}{m} \right)^2 - 1 \quad \Rightarrow \frac{1}{2} \left(\frac{y}{m} \right)^2 = 0 \quad \Rightarrow y = 0$$

$$\Rightarrow \frac{1}{2} m^2 - 1 = 0 \quad \Rightarrow m = \pm \sqrt{2} \quad \Rightarrow m = \sqrt{2} \quad \Rightarrow a_5 = \frac{y}{m} = \frac{0}{\sqrt{2}} = 0$$

6

$$a^2 + 2(a+1)a + a - 1 = 0 \quad \Rightarrow \quad \alpha, \beta \quad \Rightarrow \quad a^2 = \alpha\beta$$

$$\alpha\beta = \frac{c}{a} = \frac{-1}{1} = -1 \quad \Rightarrow \quad a^2 = -1 \quad \Rightarrow \quad a = \pm i$$

7

$$a^2 - 4a - 4 = 0 \quad \Rightarrow \quad t^2 - 4t - 4 = 0 \quad \Rightarrow \quad t = \frac{4 \pm \sqrt{16 + 16}}{2} = \frac{4 \pm \sqrt{32}}{2} = \frac{4 \pm 4\sqrt{2}}{2} = 2 \pm 2\sqrt{2}$$

$$a = \pm \sqrt{t} = \pm \sqrt{2 \pm 2\sqrt{2}} \quad \Rightarrow \quad s = 0$$

$$P = (2 + 2\sqrt{2})(-2 - 2\sqrt{2}) = -4 - 8\sqrt{2}$$

$$P^2 - 4P + 4 = 0 \quad \Rightarrow \quad P^2 - 4P + 4 = 0 \quad \Rightarrow \quad (P - 2)^2 = 0 \quad \Rightarrow \quad P = 2$$

8

$$y = Kx^2 - 4x - 4 \quad a_5 = \frac{-b}{2a} = \frac{2}{K}$$

$$y_5 = K \left(\frac{2}{K} \right)^2 - 4 \left(\frac{2}{K} \right) - 4 = \frac{4}{K} - \frac{8}{K} - 4 = -\frac{4}{K} - 4$$

$$y_5 = -\frac{4}{K} - 4 = -1 \quad \Rightarrow \quad -\frac{4}{K} - 4 = -1 \quad \Rightarrow \quad -\frac{4}{K} = 3 \quad \Rightarrow \quad K = -\frac{4}{3}$$

9

$$y = -m^2 + m + 1 \quad y = -m - 1 \quad \Rightarrow \quad -m^2 + m + 1 = -m - 1 \quad \Rightarrow \quad -m^2 + 2m + 2 = 0$$

$$\Delta = 4 + 8 = 12 \quad \Rightarrow \quad m = \frac{2 \pm \sqrt{12}}{-2} = \frac{2 \pm 2\sqrt{3}}{-2} = -1 \pm \sqrt{3}$$

$$m \in (-1 - \sqrt{3}, -1 + \sqrt{3}) \quad \Rightarrow \quad m \in (-1 - \sqrt{3}, -1 + \sqrt{3})$$

10